Quiz 5 — Bearings

You may use a calculator for the question in this quiz.

Part 1
All of the drawings in part 1 are not to scale.
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a) What is the bearing of A from B?
b) What is the bearing of B from A?
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a) What is the bearing of C from D?
b) What is the bearing of D from C?
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a) What is the bearing of E from F?
b) What is the bearing of F from E?
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a) What is the bearing of G from H?
b) What is the bearing of H from G?

5) N

106°

a) What is the bearing of | from J?
b) What is the bearing of J from I?
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a) What is the bearing of A from B?
b) What is the bearing of B from A?
c) What is the bearing of C from B?
d) What is the bearing of B from C?
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a) What is the bearing of E from D?
b) What is the bearing of C from E?
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1) Use a protractor to measure the bearing of A from B. ELEVISE
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2) Use a protractor to measure the bearing of C from D.
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3) Use a protractor to measure the bearing of E from F.
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4) Use a protractor to measure the bearing of G from H.
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